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£2:43 + £0°26 =
17472=
16+2=
47 + 8 =
27 -15=

IxB=

72, 873, 874

32+[ |=43
T 15 14

627, ], 635, 639
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Write eight thousand fc

twenty-nine in numerais. :
0%

Round 3692 to the nearest

What is the value of 8 in 82 ’

Is the answer to 387 + 496
800 or 9007

[7], 2, 4 and 8 are all factors ¢

There are 8 candles in a box.
25% of them are green. K
How many green candles are ther:

Is 13 a prime number?

Continue the pattern:

6,10, 14 [

Tim has 36 books and Farah
How many do they have altogeth

There are 10 ice-lollies in a box. Hot
boxes will be needed for 40 loll

What is the change from £2-:50
spending £2:41?

Dorothy has 5m of material. Sk
2:25m to make a skirt. :
How much is left?

Mohammed buys 7 chocolate E
each. How much does he spen

Are the angles of an eq
larger or smaller than 90°?

What is 17:10 in 12-h



